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COMPUTER SCIENCE AND APPLICATION
( Theory )
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The figures in the margin indicate full marks for the questions

1. Answer the following questions : 1x8=8

T PR T
() What is meant by a package?

9Bl package e & 3@ 2

(b) What is character constant in C++?

C++ @ character constant &2

(c/ What does program maintenance refer?
Program maintenance-«4 & 3w 2

(d) Why is the size of character arrays declared one more than
the largest string they -can hold?

Character array>™2d size declare IS CREAI IR o1
HBRSLT TIeT string®lF Ry @b1 @ReT 791 W2

(¢) What are reference parameters?

Reference parametersifg &2
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() What happens when two variables have the same identifier
in nested scope?

Nested scope © 151 55139 ¥ identifier ¥Rea & =2
(g) Why is the argument-type int’ in all the character-handling

functions?
Character handle 41 W function’9® argument-type
‘int’ R =7 , .
(h) What is the purpose of using typedef command in C++?'_
C++® typedefﬁt‘r‘“lWWﬁ‘? '
2. Answer any ten quéstions from the fdllowing L _ '2x10=20
©oq R (@I Wbt ops ey fw '

(a) What is distributed operating system?
Distributed operating system f&?
(b) What does disk d'efragmenfer do?
Disk defragmenter-9 & 337
(c) Convert the octal number 3674g to binary.
BT RN 367453 (7S TRYNA TS ¥90.1
(d) Write briefly about BluerayrDisc.
Blu-ray Discd R¥cq o3¢ a1 |
(e) Rewrite the following program removing the errors :

CdSRAICE ERCEE Hhpaf waes forar :

#include
const int a = 5;
void main( )

a =10;
cout>>“The value of a is :"<< a
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() Write the use of % = operator with an example.

B SHERCR TS % = operatord IR R fora |

. (@@ What does documentation refer to?
Documentation-¢ f 35/ ?

(h) Why are logical errors harder to detect?
Logical errorsTg I (eTRICH T34 R 2

() What are meant by testing and debugging in a program?
o'z @81 testing WIF debugging Jfeicet & 3o 2

() Rewrite the following statement using if-else :
if-else IRT I © BRACH! o FBral :
x=(y<2?y:2)

(k) In what two ways the return statement is useful in
a function?

Function «51® ¥ ¥% £t return SRECH1 Toridt 2

() Distinguish between the following functions :
@R function Y T N TR -
isupper () and (W) toupper ()

(m) Write the output of the following program :
R AR TARe & 2, fordt -
# include<iostream.h>
void main( )

char a[2] [10] = {“highway”, “corridors”};
cout << a[0] << endl;
cout << all};
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3. Answer any nine questions from the following : 3x9=27
So R e w1 2P Teq
(a) Explain the three types of language processor. 3

(b)

(o)

(@)

(e)

(9)

C16/50

ff £3°% language processor AWM A1~

Write three advantages of using UNICODE. 3
UNICODE 3= {51 et forar o

Write a C++ program to take a character from the user
and print its ASCII code. 3

ITQIFRA R b1 character 221 IR WR ASCII code CT4aRLA
C++ 2’28 @bt forn | |

Discuss the two forms used to write real constants. 1%x2=3

Real constant"Tyz FiR=e1 IR 31 751 461 SICEAGA 341 |

Give the difference between type casting and automatic
type conversion. Also, give a suitable C++ code to illustrate
both. 1%+1%=3

Type casting ¥ automatic type conversion3 WI&J 3]
e | {251 q@RA «F JRYGF C++ codes fa |

What is the role of comments and indentation in
a program? 2+1=3

2’ @S commentsHR WIF indentationd SR ¥ 2

Write an algorithm to find whether a given number is
odd or even. 3

aﬁﬁmmﬂnwm A 3 Tferwte algorithm «B1 forar |
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(h) Given the following for loop :

@] for loop(h! fua =R :

const int XY = 20;

for (int i=1, sum=_0; i < XY; i++)
sum + =i;

cout << sum;

Write the equivalent while loop for the above code. 3

SIS coded R e while 1oopCBt fordt |

(i) Write a C++ program that prints 13 9 27 81 243. 3

1 39 27 81 243 9l TR AT B C++ Az foran |

() Write a C++ program to calculate the mean of three given
numbers usmg a function. 3

Function ¢B1 IR@R IR B o RFGR 15 SRERE @b
C++ o’cam faigr

(k) Write a C++ program to copy one string into another using
strcpy( ). 3

strepy( ) IR IR GF string T G stnngtﬁ copy 33T IR
b1 C++ 2o Bt o

() Write the differences between returning values ‘and
-returning references. 3

Returning values WIF returning references3 W& */1</ 141 |
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4. Answer any three questions from the following : | 5x3=15
e R e Ffbt epy as fom

"(a) What is a variable? Why is a variable called symbolic -
variable? What do you mean by dynamic initialization of
a variable? Give an example. 1+1+2+1=5

Variable f%? Variable €% & symbolic variable 31 =l
W ? Variable @R dyna.tmc initialization {ﬁ‘lﬁ R q@me «b
el a1

(b) Construct logical expressmns to represent the following
conditions : , 1x5=5

CL | TETR T el loglcal expression’iR 409 31
(i) Height is greater than or equal to 150 but less than 165.
. Twel 150 A wrers @R R 1659tF W |
(ii) a is odd.
aSyA |
(iii) Fees is in the range 1000-2000 or Otime is 5000.
o % 1000-2000 1 Otime 5000.
(iv) chc is an uppercase letter. |
chc @b1 IJAFAR 1T |

" (v) x is even but less than 100.

x 39 R] 100%(F 79 |

(c) When is a default argument value used inside a function?
When can any argument have a default value? State two
advantages of default value. What is the use of constant
arguments? 1+1+2+1=5
Function 959 3% b1 default argument value (@& IZR
w? R @ argument3I @M default value ARI *KKI?
Default value ¥ 751 R4 T¢&EY 3111 Constant arguments Tl
JazRk R 2
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(d) Write a function in C++ to find and display the sum of
each row and each column of a 2-dimensional array of
type float. Use the array and its size as parameters with
float as its return type. 5.

Type float ¥ Rl *z3e BR S =1 = o751 B R
SRR o IR @1 C++ function @141 | Float return type ¥
{ICS WRYETH! F TR size parameter RoRe I9ZR I |

() What is a structure? Discuss the similarity and differences
" of a structure as compared to an array and a class. What
are nested structures?: 1+3+1=5

Structure 2 Structure @B @Bl array ¥ 951 class I T
<Rl ST S G ST 31 | Nested structure iz %2

* kK
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